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Research Assistant in Evaluation and Applied Research Department 

(Tamil Nadu General Subordinate Service) – 22.01.2022 
 
1. E.V.R Maniammaiyar ninaivu marriage assistance scheme is meant for  

a. Orphan Girls    b. Couples of Inter-caste marriage 
c. Daughters of Poor Widows  d. Widow Remarriage 
e. Answer not known 
<.nt.uh. kzpak;ikahh; epidT jpUkz cjtpj;jpl;lk; ____ mth;fSf;fhf 
cUthf;fg;gl;Ls;sJ. 
a. Mjutw;w ngz;fs;   b. fyg;Gj; jpUkzk; nra;Ak; jk;gjpfs; 
c. Vio tpjitah; kfs;fs;  d. tpjit kWkzk; 
e. tpil njhpatpy;iy 

 
2. Sri Naryana Guru Swamy initiated a programme of action called Sri Narayana 

Guru Dharma Paripalana Yogam which took up issues regarding: 
i. Encouraging inter-caste marriages 
ii. Right of admission to public schools 
iii. Recruitment to Government schools 
iv. Access to temples and roads 
a. i, ii, and iii   b. ii, iii and iv  c. i, iii and iv 
c. i, ii, iii and iv  e. Answer not known 
=ehuhaz FUrhkp Jtq;fpa> ehuhaz jh;k ghpghyd ,af;fk; ve;j 
tp~aq;fis Kd;ndLj;jJ? 
i. fyg;Gj; jpUkzj;ij Cf;Ftpj;jy; 
ii. nghJg; gs;spfspy; mDkjp 
iii. muR gs;spfspy; Njh;e;njLf;fg;gLjy; 
iv. Nfhtpy;fs; kw;Wk; rhiyfspy; nry;y mDkjp 
a. i, ii kw;Wk; iii    b. ii, iii kw;Wk; iv 
c. i, iii kw;Wk; iv    d. i, ii, iii kw;Wk; iv 
e. tpil njhpatpy;iy 

 
3. Electron was discovered by 

a. Newton   b. J.J. Thomson  c. Roentgen 
d. Chadwick   e. Answer not known 
vnyf;l;uhid fz;Lgpbj;jth; ____ Mthh;. 
a. epA+l;ld;   b. n[.n[. jhk;rd; c. uhz;l;[d; 
d. rhl;tpf;   e. tpil njhpatpy;iy 
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4. Fraunhofer lines are the example of ____ spectrum 

a. line emission  b. line absorption  c. band emission 
d. band absorption  e. Answer not known 
/gpuhd/gh; thpfs; ____ epwkhiyf;F vLj;Jf;fhl;L MFk;. 
a. thp ntsptpL  b. thp cl;fth;  c. gl;il ntsptpL 
d. gl;il cl;fth;  e. tpil njhpatpy;iy 

 
5. The institution of ombudsman was first created in 

a. Norway   b. Sweden   c. Denmark 
d. U.S.A    e. Answer not known 
FiwjPh;f;Fk; ikak; vq;F Kjd; Kjypy; Njhw;Wtpf;fg;gl;l ,lk; 
a. ehh;Nt   b. RtPld;   c. nld;khh;r 
d. mnkhpf;fh   e. tpil njhpatpy;iy 

 
6. Article 326 of the Indian constitution is related to which of the following? 

a. Election to the lower house to be based on universal adult suffrage 
b. President 
c. Parliament 
d. Supreme Court 
e. Answer not known 
,e;jpa murpayikg;gpd; 326-k; tpjp fPo; fhzg;gLk; vit/vij Fwpf;fpd;wJ 
(gw;wpaJ)? 
a. kf;fsitf;fhd Njh;jy; taJ te;Njhh; thf;Fhpik-d; mbg;gilapy; 
elj;JtJ. 
b. FbauRj;jiyth; 
c. ghuhSkd;wk; 
d. cr;r ePjpkd;wk; 
e. tpil njhpatpy;iy 

 
7. Which one of the statement is not correct regarding the Trichy Proclamation 

i. The Proclamation was published by Marudu Pandiyar 
ii. It created a confidence among the people 
iii. It not revealed the National feelings 
iv. It condemned the political activities of Carnatic Nawabs and 

Muhammad Ali 
a. i only  b. ii only  c. iii only  d. iv only 
e. Answer not known 
fPo;f;fz;ltw;wpy; jpUr;rp gpufldk; gw;wp jtwhd $w;W vJ? 

(i) ,g;gpufldk; kUJghz;bah;fshy; ntspaplg;gl;lJ 
(ii) ,g;gpufldk; kf;fSf;F ek;gpf;ifia Vw;gLj;jpaJ 
(iii) gpufldk; Njrpa rpe;jidia ntspg;gLj;jtjhf mikatpy;iy 
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(iv) Mw;fhL ethg; kw;Wk; KfkJ mypapd; murpay; eltbf;iffis 
,g;gpufldk; fz;bj;jJ. 

a. i kl;Lk;  b. ii kl;Lk;  c. iii kl;Lk;   d. iv kl;Lk; 
e. tpil njhpatpy;iy 

 
8. TN tops in the production of the following crops, except 

a. Banana   b. Coconut   c. Plantation Crops 
d. Cardamom   e. Answer not known 
gaph; cw;gj;jpapy; ve;j gapiuj;jtpu jkpofk; Kd;ddpapy; cs;sJ 
a. thiog; gok;  b. Njq;fha;   c. Njhl;lg; gaph;fs; 
d. Vyf;fha;   e. tpil njhpatpy;iy 

 
9. In what time will ₹ 5,600 amount to ₹ 6,750 at 6% simple interest per annum? 

a. 3 ½ years   b. 3 
𝟏

𝟑
 years   c. 2 ½ years   

d. 2  
1

3
 years   e. Answer not known 

vj;jid Mz;Lfspy; ₹ 5,600 Mz;Lf;F 6% jdptl;b tPjj;jpy; ₹ 6,750 Mf 
caUk;? 

a. 3 ½ tUlq;fs;  b. 3 
1

3
 tUlq;fs;  c. 2 ½ tUlq;fs;  

d. 2  
1

3
 tUlq;fs;  e. tpil njhpatpy;iy 

 
10. Hiuen-Tsang visited Kanchipuram during the period of 

a. Mahendra Varma I    b. Narshimha Varma II 
c. Rajashimha I     d. Mahendra Varma II 
e. Answer not known 
Athd; Rthq; ahUila Ml;rpf; fhyj;jpy; fhQ;rpGuj;jpw;F tUif Ghpe;jhh;. 
a. Kjyhk; kNfe;jputh;kd;   b. ,uz;lhk; eurpk;kth;kd; 
c. ,uh[ rpk;kd; I    d. ,uz;lhk; kNfe;jputh;kd; 
e. tpil njhpatpy;iy 

 
11. The member of Shivaji’s Astha Pradhan who looked after foreign affairs was 

a. Sumant   b. Peshwa   c. Mantri 
d. Pandit Roa   e. Answer not known 
rpth[p rigapd; ‘m~;lg;gpujhdpy;’ ntspAwT mikr;ruhf nray;gl;lth; ahh;? 
a. Rke;j;    b. gP~;th   c. ke;jphp 
d. gz;bl; uht;  e. tpil njhpatpy;iy 

 
12. State the following true statement about Special Economic Zone (SEZ) 

I. There is duty free import of raw materials for production 
II. 100% IT exemption on export income is given for first 5 years in SEZ 

units 
a. I only    b. II only  c. I and II only   
d. None of the above e. Answer not known 
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gpd;tUk; rpwg;G nghUshjhu kz;lyk; gw;wpa cz;ikahd $w;iw Fwpg;gpL 
I. cw;gj;jpf;fhd %yg; nghUl;fSf;F thpay;yh ,wf;Fkjp 
II. Kjy; 5 Mz;LfSf;F Vw;Wkjp tUkhdj;jpy; 100 tpOf;fhL thp tpyf;F 

mspf;fg;gLfpwJ (SEZ units) 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II kl;Lk; 
d. ,tw;wpy; vJTk; ,y;iy e. tpil njhpatpy;iy 

 
13. Every year, “Human Organ Donation Day is observed on 

a. May 1st   b. August 13th  c. October 20th   
d. December 26th  e. Answer not known 
xt;nthU Mz;Lk; “kdpj cWg;G jhdk;” jpdkhf nfhz;lhlg;gLk; ehs;  
a. Nk> 1   b. Mf];L> 13  c. mf;Nlhgh;> 20 
d. brk;gh;> 26  e. tpil njhpatpy;iy 

 
14. Why the Kanyakumari district is famous for Rubber in Tamil Nadu? 

(i) Dry Climate 
(ii) Geographical locations 
(iii) Adequate rainfall 
(iv) Nearness to market 
a. i and ii   b. i, ii and iii  c. ii and iii 

d. None of the above e. Answer not known 
jkpo; ehl;by; fd;dpahFkhp khtl;lk; vjdhy; ug;gUf;F Gfo; ngw;Ws;sJ  

(i) twl;rpahd fhyepiy 
(ii) epy mikg;G 
(iii) Njitahd msT kio 
(iv) mUfhikapy; re;ij cs;sJ 
a. i kw;Wk; ii    b. i, ii kw;Wk; iii  c. ii kw;Wk; iii 
d. Nkw;$wpad VJkpy;iy e. tpil njhpatpy;iy 

 
15. Find GCD of x3 - x2 + x -1, x4 – 1 

a. x2 + 1   b. (x - 1)(x2 + 1)  c. (x + 1)(x2 + 1) 
d. x2 – 1   e. Answer not known 
kPg;ngU nghJf; fhuzp fhz;f: x3 - x2 + x -1, x4 – 1 
a. x2 + 1   b. (x - 1)(x2 + 1)  c. (x + 1)(x2 + 1) 
d. x2 – 1   e. tpil njhpatpy;iy 

 
16. If the LCM of 3 and 9 is 9 then H.C.F. is  

a. 1  b. 3  c. 9  d. 27  e. Answer not known 
3 kw;Wk; 9 Mfpa vz;fspd; kP.rp.k. 9 vdpy; mtw;wpd; kP.ng.t. 
a. 1  b. 3  c. 9  d. 27  e. tpil njhpatpy;iy 

 
17. Assertion (A): Abul Fazal’s Akbar Nama contains three volumes 
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Reason (R): First volume contains an account of Akbar’s ancesstors,  
second volume is denoted to the reign exhaustive treatment of Akbar’s, Third 
volume has been given a subtitle the Aini Akbari 
a. (A) is true but (R) is false 
b. Both (A) and (R) are true. (R) is the correct explanation of (A) 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true. But (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A):  mGy; ghrypd; mf;gh; ehkh 3 ghfj;ij nfhz;lJ 
fhuzk; (R): Kjy; ghfk; mf;ghpd; Kd;Ndhh;fs; gw;wpaJ. ,uz;lhk;  
ghfk; mf;ghpd; Ml;rpiag; gw;wp tphpthff; $WtJ. %d;whk; ghfk; mapdp 
mf;ghpd; jdp jiyg;G 
a.  (A) rhp Mdhy; (R) jtW 
b. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp (R) vd;gJ (A) tpw;F rhpahd 

tpsf;fkhFk; 
c. (A) jtW Mdhy; (R) rhp 
d. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp Mdhy; (R) vd;gJ (A) tpw;F rhpahd 

tpsf;fky;y 
e. tpil njhpatpy;iy 

 
18. Ibn Battuta visited in India during the time of  

a. Muhammad bin Tughlaq   b. Firuz Shah Tughlaq 
c. Ghiyasud-Din-Tughlaq    d. Shamsud-Din Muhammad 
e. Answer not known 
,ghd; gJ}jh _____ fhyj;jpy; ,e;jpahtpw;F tp[ak; nra;jhh;. 
a. K`k;kj; gpd; Jf;sf;    b. ngNuh];~h Jf;sf; 
c. fpah]Pj;jPd; Jf;sf;    d. ~k;]Pj;jpd; K`k;kj; 
e. tpil njhpatpy;iy 

 
19. Satyendranath Tagore was the First Indian who was successful in Indian Civil 

Service examination in the year. 
a. 1861 b. 1862 c. 1863 d. 1864 e. Answer not known 
rj;Nae;jpuehj; jh$h;> ,e;jpa Fbikg; gzp Njh;T vOjp ntw;wp ngw;w Kjy; 
,e;jpah; Mth;. ,e;j Njh;T vOjpa Mz;L 
a. 1861 b. 1862 c. 1863 d. 1864 e. tpil njhpatpy;iy 

 
20. In the rise and growth of the self-respect movement, there are two phases. 

Which is the correct statement? 
(i) Rationalism 
(ii) Atheism 
a. i  b. ii  c. i and ii  d. None of the above 
e. Answer not known 
Ra khpahij ,af;fj;jpd; vOr;rpapYk;> tsh;r;rpapYk; ,uz;L fl;lk; cz;L. 
,tw;wpy; vJ rhpahdit? 
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(i) gFj;jwpTthjk; 
(ii) ehj;jpfk; 
a. i  b. ii  c. i kw;Wk; ii d. vJTkpy;iy 
e. tpil njhpatpy;iy 

 
21. Find the total area of 14 squares whose sides are 11 cm, 12 cm, 13 cm …. 24 cm. 

a. 5975 cm2   b. 3813 cm2   c. 4515 cm2 

d. 3939 cm2   e. Answer not known 
11 nrkP> 12 nrkP> 13 nrkP… 24 nrkP gf;f msTfisf; nfhz;l 14 rJuq;fspd; 
nkhj;jg; gug;gsT fhz;f 
a. 5975 nrkP2  b. 3813 nrkP2  c. 4515 nrkP 
d. 3939 nrkP2  e. tpil njhpatpy;iy 

 
22. If sum of the three prime numbers are 80 and the difference between any two 

numbers are 4. Find the 3 numbers. 
a. 2, 31, 47   b. 2, 37, 41   c. 2, 11, 67 
d. 2, 17, 61   e. Answer not known 
%d;W gfh vz;fspd; $Ljy; 80. mtw;Ws; ,U vz;fspd; NtWghL 4 vdpy; 
me;j %d;W vz;fs; 
a. 2, 31, 47   b. 2, 37, 41   c. 2, 11, 67 
d. 2, 17, 61   e. tpil njhpatpy;iy 

 
23. Match the following Authors and Books: 

Author   Book 
 A. Pope Francis   1. My Life in Design 
 B. Gauri Khan   2. Voices of dissent 
 C. Vikas Khanna   3. Let us dream 
 D. Romila Thapar  4. Kitchens of Gratitude 
  A B C D 
 a. 3 1 4 2 
 b. 1 2 4 3 
 c. 4 1 2 3 
 d. 2 4 1 3 
 e. Answer not known 

gpd;tUk; Mrphpah; mth; Gj;jfq;fisAk; nghUj;jkhf ,izapLf: 
Mrhpah;   Gj;jfk; 

 A. Nghg; gpuhd;rp];  1. ik iyg; ,d; bird; 
 B. nfshp fhz;   2. tha;r]; Mg; brd;l; 
 C. tpfh]; fz;zh  3. nyl; m]; bhPk; 
 D. nuhkpyh jghh;   4. fpr;rd;]; Mg; fpuhl;bbA+l; 

A B C D 
 a. 3 1 4 2 
 b. 1 2 4 3 
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 c. 4 1 2 3 
 d. 2 4 1 3 

e. tpil njhpatpy;iy 
 

24. Repo rate means 
a. Rate at which the Commercial Banks are willing to lend to RBI 
b. Rate at which the RBI is willing to lend to commercial banks 
c. Exchange rate of the foreign bank 
d. Growth rate of the economy 
e. Answer not known 
nug;Ngh tpfpjk; vd;gjd; nghUs; 

a. tzpf tq;fpfs; hprh;t; tq;fpfSf;F mspf;Fk; flDf;fhd tl;b tpfpjk; 
b. hprh;t; tq;fp tzpf tq;fpfSf;F mspf;Fk; flDf;fhd tl;b tpfpjk; 
c. me;epa nryhtzp khw;W tpfpjk; 
d. nghUshjhu tsh;r;rp tpfpjk; 
e. tpil njhpatpy;iy 

 
25. The book called as “The Veda of the Tamils” is  

a. Devaram   b. Thiruvasagam   c. Thirukural 
d. Nalaidiar   e. Answer not known 
jkpoh;fspd; Ntjk; vd;W miof;fg;gLk; E}y; 
a. Njthuk;   b. jpUthrfk;   c. jpUf;Fws; 
d. ehybahh;   e. tpil njhpatpy;iy 

 
26. O! honey bee with beautiful wings (Kongu ther vaazhkai anjirai-th thumbi) 

what is the second line of this poem Kurunthogai? 
a. Maipattana Mamuga Musukalai 
b. Kaamam Seppaadhu Kandadhu Mozhimo 
c. Varaiizhi Aruviel Thondrum Nadan 
d. Punakili Kadium Poongam Pethai 
e. Answer not known 
“nfhq;F Njh; tho;f;if mQ;rpiwj; Jk;gp” – vdj; njhlq;Fk; Fwe;njhifg; 
ghlypd; ,uz;lhtJ mb vJ? 
a. ikg;gl;ld;d khKf KRf;fiy   
b. fhkk; nrg;ghJ fz;lJ nkhopNkh 
c. tiu ,op mUtpapy; Njhd;W ehld; 
d. Gdf;fpsp fbAk; G+q;fz; Ngij 
e. tpil njhpatpy;iy 

 
27. y : 36 = 2 : x = 8 : 12. Find x, y respectively. 

a. 24, 3 b. 3, 24 c. 3, 54 d. 54, 3 e. Answer not known 
y : 36 = 2 : x = 8 : 12 vdpy; x kw;Wk; y kjpg;Gfis fhz;f. 
a. 24, 3 b. 3, 24 c. 3, 54 d. 54, 3 e. tpil njhpatpy;iy 
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28. If ₹ 782 be divided into three parts proportional to 
1

2
,
2

3
 and 

3

4
 then the first part 

is 
a. 205  b. 105  c. 200  d. 204 e. Answer not known 
1

2
,
2

3
 
3

4
 vd;w tpfpj rkj;jpy; ₹ 782 MdJ gphpf;fg;gLfpwJ vdpy;> Kjy; gFjpapd; 

njhif vd;d? 
a. 205  b. 105  c. 200  d. 204 e. tpil njhpatpy;iy 

 
29. The book “Racial Elements in the population” written by 

a. Biraja Sankar Guha   b. Romila Thapar 
c. Satish Chandra    d. Ajay Mitra Sastri 
e. Answer not known 
‘kf;fl; njhifapy; ,df;$Wfs;” vd;w E}ypid vOjpath; ahh;? 
a. gpu[hrq;fh; F`h    b. nuhkpyh jhg;gh; 
c. rjp~; re;jpuh    d. m[a; kpj;uh rh];jphp 
e. tpil njhpatpy;iy 

 
30. In which State Dwaraka is the Holy place for Hindus situated 

a. Uttar Pradesh    b. Uttrakant 
c. Gujarat     d. Madhya Pradesh 
e. Answer not known 
ve;j khepyj;jpy; ,e;Jf;fspd; Gdpjj; jyq;fspy; xd;whd Jthufh 
mike;Js;sJ? 
a. cj;jpu gpuNjrk;    b. cj;ufhz;l; 
c. F[uhj;     d. kj;jpagpuNjrk 
e. tpil njhpatpy;iy 

 
31. In which among the following is considered as the First Political Speech of 

Gandhiji? 
a. Banaras Hindu University Speech (BHU) 
b. Dandi March Speech 
c. First Round Table Conference Speech 
d. Quit India Speech 
e. Answer not known 
fPo;f;fhZk; nrhw;nghopTfspy; fhe;jpabfspd; Kjy; murpay; ciu vd 
Gfo;ngw;wJ vJ? 
a. gdhu]; ,e;J gy;fiyf; fofk; nrhw;nghopT 
b. jz;b ahj;jpiu nrhw;nghopT 
c. Kjy; tl;l Nki[ khehl;L nrhw;nghopT 
d. nts;isaNd ntspNaW ,af;f nrhw;nghopT 
e. tpil njhpatpy;iy 
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32. Which candidate was defeated by Subhas Chandra Bose to become the 
President of the Congress in 1939 Election? 
a. Pattabhi Sitaramayya    b. Jawaharlal Nehru 
c. Rajendra Prasad     d. Sardar Vallabhai Patel 
e. Answer not known 
1939-k; Mz;L Njh;jypy; Rgh~; re;jpu Ngh]; ve;j Ntl;ghsiu Njhw;fbj;J 
fhq;fpurpd; jiytuhdhh;? 
a. gl;lhgp rPjhuhka;ah    b. [t`h;yhy; NeU 
c. uhN[e;jpi gpurhj;     d. rh;jhh; ty;ygha; gNly; 
e. tpil njhpatpy;iy 

 
33. Aspects of scientific attitude are 

(i) Critical observation 
(ii)  Intellectual honesty 
(iii) Impartial Thinking 
(iv) Reflective Thinking 
a. i and ii only     b. iii and iv only 
c. ii, iii and iv only     d. i, ii, iii and iv 

e. Answer not known 
mwptpay; kdg;ghd;ikapd; ghpzhkq;fs; vd;git 
(i) $h;e;j cw;WNehf;fy; 
(ii) mwpthh;e;j Neh;ik 
(iii) ghFghlw;w rpe;jid 
(iv) gpujpgypf;Fk; rpe;jid 
a. i kw;Wk; ii kl;Lk;     b. iii kw;Wk; iv kl;Lk; 
c. ii, iii kw;Wk; iv kl;Lk;    d. i, ii, iii kw;Wk; iv 
e. tpil njhpatpy;iy 

 
34. The ‘International day for Biological Diversity’ is 

a. May 22   b. May 12    c. May 2 
d. June 12   e. Answer not known 
‘rh;tNjr caphpdg; gd;ik’ ehs; 
a. Nk 22   b. Nk 12    c. Nk 2 
d. [_d;   e. tpil njhpatpy;iy 

35. If 

1
1 3

2
x

p q

q p

−

   
=   

   
then find the value of x. 

a. 4-1  b. 3-1  c. 2-1  d. 1-1  e. Answer not known 
1

1 3
2

x

p q

q p

−

   
=   

   
vdpy; x -d; kjpg;G fhz;f 

a. 4-1  b. 3-1  c. 2-1  d. 1-1  e. tpil njhpatpy;iy 
 

36. How many squats are there in a standard chess board? 
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a. 64  b. 128  c. 204  d. 256 e. Answer not known 
xU rJuq;f gyifapy; vj;jid rJuq;fs; ,Uf;Fk;? 
a. 64  b. 128  c. 204  d. 256 e. tpil njhpatpy;iy 

 
37. Under the Indian Citizenship Act 1955, one can acquire Citizenship by 

(i) Birth 
(ii) Descent 
(iii) Marriage 
(iv) Registration 
a. i only   b. ii only   c. i, ii and iii 
d. i, ii and iv  e. Answer not known 
,e;jpaf; FbAhpikr; rl;lk; 1955-d; fPo; xUth; ,e;jpaf; Fbkfdhf 
Ntz;Lnkd;why;  
 

(i) ,e;jpahtpy; gpwe;jpUf;f Ntz;Lk; 
(ii) ,e;jpa tk;rhtspahf ,Uf;f Ntz;Lk; 

(iii) ,e;jpaiu kze;jpUf;f Ntz;Lk; 
(iv) FbAhpikf;fhfg; gjpT nra;jpUf;f Ntz;Lk; 
a. i kl;Lk;    b. ii kl;Lk;   c. i, ii kw;Wk; iii 
d. i, ii kw;Wk; iv   e. tpil njhpatpy;iy 

 
38. In which year the preamble of the Indian constitution was amended? 

a. 1956 b. 1966 c. 1976 d. 1980 e. Answer not known 
ve;j Mz;L ,e;jpa murpayikg;gpd; Kfg;Giu jpUj;jk; nra;ag;gl;lJ? 
a. 1956 b. 1966 c. 1976 d. 1980 e. tpil njhpatpy;iy 

 
39. Match the following 

A. Manram   1. Common place 
B. Saptanga  2. Administrative unit 
C. Enperayam  3. Meeting hall 
D. Podiyil   4. Seven limbs 
 A B C D 
a. 3 4 2 1 
b. 3 2 1 4 
c. 4 3 2 1 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf: 
A. kd;wk;   1. nghJ ,lk; 
B. rg;jhq;fh  2. eph;thf FO 
C. vz;Nguhak;  3. $Lif elj;Jk; ,lk; 
D. nghjpapy;  4. VO gphpTfs; 

A B C D 
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a. 3 4 2 1 
b. 3 2 1 4 
c. 4 3 2 1 
d. 4 2 1 3 
e. tpil njhpatpy;iy 
 

40. Find the compound interest on ₹ 1,000 at 10% per annum for 2 years 
a. ₹ 190 b. ₹ 210 c. ₹ 1210 d. ₹ 200 e. Answer not known 
mry; ₹ 1>000-f;F 10% Mz;L tl;bapy; 2 Mz;LfSf;F fpilf;Fk; $l;L 
tl;biaf; fhz;f. 
a. ₹ 190 b. ₹ 210 c. ₹ 1210 d. ₹ 200 e. tpil njhpatpy;iy 

 
41. The population of a town is increasing at the rate of 6% p.a. It was 238765 in the 

year 2018. Find the population in the year 2020. 
a. 286276   b. 268276   c. 248274 
d. 268876   e. Answer not known 
xU efuj;jpd; kf;fs; njhif Mz;Lf;F 6% mjpfhpf;fpwJ. 2018-Mk; Mz;L 
kf;fs; njhif 286276 – Mf ,Ue;jJ vdpy; 2020-Mk; Mz;bd; kf;fs; 
njhifiaf; fhzf; 
a. 286276   b. 268276   c. 248274 
d. 268876   e. tpil njhpatpy;iy 

 
42. Match the following 

A. Quinton de-kock  1. Styrian Grand prix, 2020 
B. Valtteri Bottas  2. La Liga Champion, 2020 
C. Lewis Hamilton  3. Cricket-South Africa National Award 
D. Real Madrid  4. Austrian Grand Prix 2020 

A B C D 
a. 3 4 1 2 
b. 2 3 4 1 
c. 1 4 2 3 
d. 4 1 3 2 
e. Answer not known 

rhpahdtw;iw nghUj;Jf: 
A. Ftpd;ld; b fhf;  1. ];ilhpad; fpuhz;l; gphpf;];> 2020 
B. thy;Nlhp Nghl;l];  2. yh ypfh Nrk;gpad;> 2020 
C. yPtP]; `kpy;ld;  3. fphpf;nfl;-njd; Mg;gphpf;f Njrpa tpUJ 
D. hpay; Nkl;hpl;   4. M];bhpad; fpuhz;l; gphpf;];> 2020 

A B C D 
a. 3 4 1 2 
b. 2 3 4 1 
c. 1 4 2 3 
d. 4 1 3 2 
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e. tpil njhpatpy;iy 
 

43. Phase-I of the Chennai Metro Rail project covers a distance of 
a. 25 km  b. 35 km  c. 45 km  d. 55 km 
e. Answer not known 
nrd;id nkl;Nuh nuapy; jpl;lj;jpd; Kjy; fl;lk; vj;jid fpNyh kPl;lh; 
nfhz;lJ? 
a. 25   b. 35   c. 45   d. 55 
e. tpil njhpatpy;iy 

 
44. Choose the right answer: 

i. India League founded in 1843 
ii. British India Association founded in Bengal in 1875 
iii. India Association founded in 1876 
iv. Poona Sarvajanak Sabha setup in 1878 
a. i only  b. ii only  c. iii only  d. iv only 
e. Answer not known 
rhpahd tpilia Njhe;njLf: 
i. ,e;jpa yPf; Muk;gpf;fg;gl;l tUlk; 1843 
ii. Mq;fpy ,e;jpa rq;fk; tq;fhsj;jpy; 1875 Muk;gpf;fg;gl;lJ. 
iii. ,e;jpa rq;fk; 1876 Muk;gpf;fg;gl;lJ 
iv. G+dh rhh;t[df; rgh 1878 y; mikf;fg;gl;lJ. 
a. i kl;Lk;  b. ii kl;Lk;  c. iii kl;Lk;  d. iv kl;Lk; 
e. tpil njhpatpy;iy 

 
45. The Hindus and Muslims as “Two eyes of a beautiful bride of India” was 

described by 
a. Sir Syed Ahmad Khan   b. M.A. Jinnah 
c. Aga Khan     d. Syed Wazir Hussain 
e. Answer not known 
,e;JfSk; kw;Wk; K];yPk;fSk; ,e;jpa kzg; ngz;zpd; mofhd ,uz;L 
fz;fs; vd;W tUzpj;jth; 
a. rh; ra;apJ mfkJ fhd;   b. M.A. [pd;dh 
c. mfh fhd;      d. ra;apJ trph;`_ird; 
e. tpil njhpatpy;iy 

 
46. Consider the following statement: 

(i) Beti Bachao Beti Padhao Scheme was launched in Cuddalore 
(ii) Beti Bachao Beti Padhao Scheme was launched in Dharmapuri because 

Child sex ratio is the lowest in the State. 
(iii) Child sex ratio for Tamil Nadu is 943/1000 in 2011 census. 
(iv) Child sex ration for Dharmapuri is 647/1000 in 2011 
Among the following statements, which are correct? 
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a. i and iii are correct    b. ii and iv are correct 
c. i, ii, iii are correct     d. iv alone are correct 
e. Answer not known 
gpd;tUk; $w;iw Muha;f 

(i) Ngl;b gr;Nrh Ngl;b gNjh jpl;lk; flY}hpy; Jtq;fg;gl;lJ. 
(ii) khepyj;jpNyNa Foe;ij ghypd tpfpjk; Fiwthf cs;sjhy; jh;kGhpapy; 

Ngl;b gr;Nrh Ngl;b gNjh jpl;lk; Jtq;fg;gl;lJ. 
(iii) 2011-y; jkpo;ehl;by; Foe;ij ghypd tpfpjk; 943/1000 kf;fs; njhif 

fzf;nfLg;gpy; vd;gjhFk;. 
(iv) 2011-y; Foe;ij ghypd tpfpjk; jh;kGhpapy; 647/1000 Mf ,Uf;fpwJ. 

a. i kw;Wk; iii rhp     b. ii kw;Wk; iv rhp 
c. i, ii kw;Wk; rhp     d. iv kl;Lk; 
e. tpil njhpatpy;iy 

 
47. The value of 1 hp in terms of watts is 

a. 726 W  b. 736 W  c. 746 W  d. 756 W 
e. Answer not known 
thl;bd; fzf;fPl;by; 1 hp-apd; kjpg;G ____ MFk;. 
a. 726 W  b. 736 W  c. 746 W  d. 756 W 
e. tpil njhpatpy;iy 

 
48. Sun spots occur after every ____ years. 

a. 15  b. 11  c. 21  d. 10  e. Answer not known 
#hpa Gs;spfs; ____ Mz;Lf;F xU Kiw Vw;gLk;. 
a. 15  b. 11  c. 21  d. 10  e. tpil njhpatpy;iy 

 
49. Demonetization means 

a. It involves introducing a new currency in the economy 
b. It involves reducing the official value of a currency in relation to other 

currencies  
c. It involves stripping a currency units of its status as legal tender 
d. It involves increasing the official value of a currency in relation to other 

currencies 
e. Answer not known 
gzj;jpd; kjpg;igf; Fiwj;jy; tpsf;fk; 

a. nghUshjhuj;jpy; Gjpa ehzaj;ij mwpKfg;gLj;JtJ 
b. kw;w ehzaq;fSld; njhlh;Gila ehzaj;jpd; mjpfhug;G+h;t kjpg;ig 

Fiwg;gJ 
c. xU ehza rl;lKiw NgW> mjd; epiyia mfw;Wtij cs;slf;fpaJ. 
d. kw;w ehzaq;fSld; njhlh;Gila ehzaj;jpd; mjpfhug;G+h;t kjpg;ig 

mjpfhpg;gij cs;slf;fpaJ   
e. tpil njhpatpy;iy 
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50. Which of the following is not the main achievement of MGNREGS? 
a. Increasing employment opportunities 
b. Financial inclusion 
c. Enhancing wage earning and impact on minimum wages 
d. Irregularities in implementation 
e. Answer not known 
fPNo jug;gl;Ls;stw;Ws; vJ MGNREGS -apd; rhjid my;y? 
a. Ntiy tha;g;gpid mjpfg;gLj;Jjy; 
b. cs;shf;f epjpak; 
c. Fiwe;jgl;r $ypia mjpfg;gLj;Jjy; 
d. eilKiwgLj;Jjypy; cs;s xOq;fw;w jd;ik 

e. tpil njhpatpy;iy 
 

51. “That is land that yields increase …..” What is the message in this Thirukkural 
a. Policies of a best country  b. A country’s Resources 
c. Problems in a country   d. Policies of a bad country 
e. Answer not known 
“ehnld;g ehlh tsj;jd” vd;w Fwspy; $wg;gLk; nra;jp 
a. ey;y ehl;bw;fhd ,yf;fzk; b. ehl;bd; tsk; 
c. ehl;by; Vw;gLk; jPq;F  d. jPa ehl;bw;fhd ,yf;fzk; 
e. tpil njhpatpy;iy 

 
52. “Those who’ve helped you in distress” – What kind of friendship 

Thiruvalluvar mention here? 
a. Friendship of Learned Person 
b. Friendship of Cruel Person 
c. Friendship of Wise Person 
d. Friendship of a person who helped you in your troubles 
e. Answer not known 
‘tpOke; Jilj;jth; el;G’ – vd ts;Sth; ng;jifa el;igf; Fwpg;gpLfpwhh;? 
a. fw;Nwhh; el;G   b. Jd;gk; nfhLj;jth; el;G 
c. rhd;Nwhh; el;G   d. Jd;gk; ePf;fpa ey;Nyhh; el;G 
e. tpil njhpatpy;iy 

 
53. A alone can do a piece of work in 10 days. If B alone in 15 days. They 

undertook work for Rs. 2,00,000. The amount that a will get is 
a. Rs. 1,20,000  b. Rs. 90,000  c. Rs. 60,000 d. Rs. 40,000 
e. Answer not known 
A vd;gth; jdpNa xU Ntiyia 10 ehs;fspYk; B Mdth; jdpNa 15 
ehs;fspy; Kbg;gh;. mth;fs; ,e;j Ntiyia &. 2>00>000 njhiff;F xg;Gf; 
nfhz;ldh; vdpy;> A ngWk; njhif ________ MFk;. 
a. &. 1,20,000  b. &. 90,000  c. &. 60,000 d. &. 40,000 
e. tpil njhpatpy;iy 



 

15 | P a g e  
 

 
54. A and B can do a piece of work in 12 days; B and C in 15 days; C and A in 20 

days. How many days will finish it together. 
a. 47 days  b. 10 days  c. 23 days  d. 360 days 
e. Answer not known 
A kw;Wk; B xU Ntiyia 12 ehl;fspy; nra;a KbAk;. B kw;Wk; C 15 
ehl;fspYk;> C kw;Wk; A 20 ehl;fspYk; nra;a KbAnkd;why; mth;fs; vj;jid 
ehl;fspy; mij xd;whfr; nra;J Kbg;ghh;fs;. 
a. 47 ehl;fs; b. 10 ehl;fs; c. 23 ehl;fs; d. 360 ehl;fs; 
e. tpil njhpatpy;iy 

 
55. ISRO launched a special programme for the school children titled 

a. Young scientist programme  b. Childrens science programme 
c. Youth programme   d. Special Childrens programme 
e. Answer not known 
I.v];.Mh;.X gs;sp Foe;ijfSf;fhf Vw;gLj;jpa rpwg;G epfo;r;rpapd; jiyg;G\ 
a. ,sk; tpQ;Qhdpf;fhd epfo;r;rp b. Foe;ijfSf;fhd mwptpay; epfo;r;rp 
c. ,isQh;fs; epfo;r;rp   d. rpwg;G Foe;ijfs; epfo;T 
e. tpil njhpatpy;iy 

  
56. From the given list of tribes identify which is the largest tribal group found in 

India 
a. Gonds  b. Santhals  c. Nagas  d. Todas 
e. Answer not known 
nfhLf;fg;gl;Ls;s goq;Fbapdh; gl;bapaypypUe;J ,e;jpahtpy; mjpf mstpy; 
fhzg;gLk; goq;Fbapdk; vJntd fz;lwpf. 
a. Nfhz;lh;fs;  b. rhe;js;fs; c. ehfh;fs;  d. Njhlh;fs; 
e. tpil njhpatpy;iy 

 
57. Choose the expansion of NITI Ayog? 

a. National Information and Taxes in India 
b. National Institution for Trade in India 
c. National Institution for Transforming India 
d. National Integrated Trade Institute 
e. Answer not known 
vd;gjd; tphpthf;fk; vd;d? 
a. National Information and Taxes in India 
b. National Institution for Trade in India 
c. National Institution for Transforming India 
d. National Integrated Trade Institute 
e. tpil njhpatpy;iy 

 
58. Human Development Index is based on 

a. Life expectancy b. Infant mortality  c. Death rate 
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d. Birth rate  e. Answer not known 
kdpj Nkk;ghl;Lf; FwpaPL ,ij mbg;gilahff; nfhz;L mikfpwJ 
a. tho;ehL   b. Foe;ij ,wg;G  c. ,wg;G tPjk; 
d. gpwg;G tPjk;  e. tpil njhpatpy;iy 

 
59. Which among the following is the function(s) of Food Safety and Drug 

Administration Department of Government of Tamil Nadu? 
(i) Licenses for manufacture of cosmetics 
(ii) Licenses for manufacture of Allopathic Drugs 
(iii) Approval of Blood Storage centre 
(iv) Licenses for Approval of Laboratory 
a. (i), (ii), (iii) and (iv)   b. (ii), (iii) and (iv) only 
c. (ii) only     d. (ii) and (iii) only 
e. Answer not known 
gpd;tUtdtw;Ws; jkpof muR czT ghJfhg;G kw;Wk; kUe;J 
eph;thfj;Jiwapd; nray;ghL(fs;) vJ? 
(i) moF rhjdg; nghUl;fs; cw;gj;jpf;F chpkk; mspj;jy; 
(ii) mNyhgjp kUe;Jfs; cw;gj;jpf;F chpkk; mspj;jy; 
(iii) ,uj;j Nrkpg;G ikaj;jpw;F xg;Gjy; mspj;jy;   
(iv) Ma;tfq;fSf;F xg;Gjy; kw;Wk; chpkk; mspj;jy;  
a. (i), (ii), (iii) kw;Wk; (iv)  b. (ii), (iii) kw;Wk; (iv) only 
c. (ii) kl;Lk;     d. (ii) kw;Wk; (iii) only 
e. tpil njhpatpy;iy 

 
60. 15% of 25% of 10,000 is 

a. 375  b. 400  c. 425  d. 475 e. Answer not known 
10,000  ,d; 25% kjpg;gpd; 15% vd;gJ __________ MFk;. 
a. 375  b. 400  c. 425  d. 475 e. tpil njhpatpy;iy 

 
61. The income of a person is increased by 10% and then decreased by 10%. Find 

the change in his income. 
a. 0%  b. 1%  c. 10% d. 100% e. Answer not known 
xUtUila tUkhdk; mjpfhpj;J mjd;gpd; Fiwe;jJ. mtUila tUkhdj;jpy; 
Vw;gl;l khw;wk; vd;d rjtPjk; 
a. 0%  b. 1%  c. 10% d. 100% e. tpil njhpatpy;iy 

 
62. Match the following 

A. Rig Veda  1. Sacrificial formulae 
B. Yajur Veda  2. Hymns 
C. Sama Veda  3. Spells and Charms 
D. Atharva Veda  4. Chants and Melodies 

A B C D  
a. 1 2 3 4  
b.  2 1 4 3  
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c. 3 4 2 1   
d. 4 3 1 2 
e. Answer not known 
fPNo cs;stw;iw nghUj;Jf. 
A. hpf; Ntjk;   1. ahfk; nra;Kiw 
B. a[_h; Ntjk;  2. ghly;fs; 
C. rhk Ntjk;   3. khe;j;hPfk; 
D. mjh;t Ntjk;  4. fPh;j;jidfs; kw;Wk; nky;ypirfs; 

A B C D  
a. 1 2 3 4  
b.  2 1 4 3  
c. 3 4 2 1   
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
63. Who wrote Novel about Devadashi? 

a. Bala Saraswathi  b. Ramamirtham Ammayar 

c. Nagarathinamma  d. M.S. Subbulakshmi 
e. Answer not known 
Njtjhrp gw;wp ehty; vOjpaJ ahh;? 
a. ghy ru];tjp   b. uhkhkph;jk; mk;ikahh; 
c. ehfuj;jpdk;kh   d. vk;.v];. Rg;Gyl;Rkp 
e. tpil njhpatpy;iy 

 
64. Assertion (A) : Moovalur Ramamirtham was the founder of an orphanage 

 ‘Avvai Illam’.  
Reason (R)      : She was a strong follower of Periyar. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. (A) is true and (R) is false 
d. (A) is false and (R) is true 
e. Answer not known 
$w;W (A)  : %tY}h; ,uhkhkpUjk; mdhij tpLjpahd mt;it ,y;yj;ij  
           epWtpdhh;. 
fhuzk; (R): mth; nghpahhpd; jPtu rPlh;. 
a. $w;W kw;Wk; fhuzk; rhp> fhuzk; $w;iw cWjpgLj;JfpwJ.  
b. $w;W kw;Wk; fhuzk; rhp> fhuzk; $w;Wf;F nghUe;jtpy;iy. 
c. $w;W rhp fhuzk; jtW 
d. $w;W jtW fhuzk; rhp 
e. tpil njhpatpy;iy 

 
65. Find the term which does not fit into the series below: 

1CV, 5FU, 9IT, 15LS, 17OR 
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a. 5FU b. 15LS  c. 9IT  d. 17OR    e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s njhlhpy; nghUe;jhj cWg;igf; fhz;f. 
1CV, 5FU, 9IT, 15LS, 17OR 
a. 5FU b. 15LS  c. 9IT  d. 17OR    e. tpil njhpatpy;iy 

 
66. Replace the letter by symbols as + for A, - for B, x for C, ÷ for D, find the 

answer for the pattern 4B3C5A30D2 by doing the given operations. 
a. 3  b. 4  c. 5  d. 0  e. Answer not known 
A ,f;Fg; gjpy; + vdTk; B ,f;Fg; gjpy; - vdTk; C ,f;Fg; gjpy; x vdTk; D 
,f;Fg; gjpy; ÷ vdTk; vLj;Jf; nfhz;lhy; 4B3C5A30D2 vd;w mikg;gpd; 
tpiliaf; fhz;f. 
a. 3  b. 4  c. 5  d. 0  e. tpil njhpatpy;iy 

 
67. Select the followings tax is not a direct tax? 

I. GST  II. Wealth Tax  III. Gift tax 
a. I only  b. I and II only  c. II and III only  d. III only 
e. Answer not known 
fPo;fz;l thp Neub thp my;y 
I. ruf;F kw;Wk; Nrit thp   
II. nrhj;J thp 
III. nfhil thp  
a. I kl;Lk;  b. I kw;Wk; II kl;Lk; c. II kw;Wk; III kl;Lk; d. III kl;Lk; 
e. tpil njhpatpy;iy 

 
68. The ______ rivers are called perennial rivers. 

a. Peninsular rivers   b. West flowing rivers 
c. East flowing rivers  d. Himalayan rivers 

e. Answer not known 
tw;whj ejpfs; vd;wiof;fg;glf;$ba ejpfs; 
a. jPgfw;g ejpfs;     b. Nkw;F Nehf;fp ghAk; ejpfs; 
c. fpof;F Nehf;fp ghAk; ejpfs;   d. ,khya ejpfs; 
e. tpil njhpatpy;iy 

 
69. Where Arasur mountain is located? 

a. Easter Kerala     b. Eastern Gujarat  
c. Western Andhra Pradesh   d. Western Tamil Nadu  
e. Answer not known 
mu#h; kiy mike;Js;s gpuNjrkhdJ 
a. fpof;F Nfush     b. fpof;F F[uhj;  
c. Nkw;F Me;jpug;gpuNjrk;    d. Nkw;F jkpo;ehL   
e. tpil njhpatpy;iy 

 
70. Sir Martimer Wheeler discovered a Roman factory at 

a. Adichanallur  b. Arikkamedu   c. Kaliyur 
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d. Kanchi   e. Answer not known 
Nuhkhdpa njhopw;rhiyia khh;bkh; tPyh; fz;Lgpbj;j ,lk; 
a. Mjpr;rey;Y}h;  b. mhpf;fhNkL   c. fspA+h; 
d. fhQ;rp   e. tpil njhpatpy;iy 

 
71. The oldest Dravidian language 

a. Kannada  b. Malayalam  c. Tamil   d. Telugu 
e. Answer not known 
jpuhtpl nkhopfSs; goikahdJ vJ? 
a. fd;dlk;  b. kiyahsk;  c. jkpo;  d. njYq;F 
e. tpil njhpatpy;iy 

 
72. What is the smallest 5 digit number that is exactly divisible by 96 and 120? 

a. 10608  b. 16008  c. 10080  d. 18600 
e. Answer not known 
96 kw;Wk; 120 Mfpa vz;fshy; rhpahf tFglf; $ba kpfr;rpwpa 5 ,yf;f vz; 
vd;d? 
a. 10608  b. 16008  c. 10080  d. 18600 
e. tpil njhpatpy;iy 

 
73. Find the L.C.M. : (2x2 – 3xy)2, (4x – 6y)3, 8x3 – 27y3 

a. 23x3 (2x – 3y)2    b. 23x2 (4 x2 + 6 xy + 9y2) 
c. 23x2 (2x – 3y)3 (4 x2 + 6 xy + 9y2) d. 23x3 (2x – 3y)3 (4 x2 + 6xy + 9y2) 
e. Answer not known 
kP.rp.k. fhz;f: (2x2 – 3xy)2, (4x – 6y)3, 8x3 – 27y3 

a. 23x3 (2x – 3y)2    b. 23x2 (4 x2 + 6 xy + 9y2) 
c. 23x2 (2x – 3y)3 (4 x2 + 6 xy + 9y2) d. 23x3 (2x – 3y)3 (4 x2 + 6xy + 9y2) 
e. tpil njhpatpy;iy 

 
74. Which one of the statement is correct regarding Krishna Devarayar and 

Portuguese relationship 
I. Albuquerque was the contemporary of Krishna Devarayar 
II. Albuquerque sent Louis to the court of Krishna Devarayar 
III. Many Portuguese traders settled in Vijayanagar city during the period  
      Krishna Devarayar 
IV. Portuguese sometimes granted contributory assistance to the Vijayanagar  
      empire. 
a. I only  b. II only  c. III only  d. I, II, III, IV 
e. Answer not known 
fPo;fz;l $w;Wfspy; fpU~;z NjtuhaUf;Fk; Nghh;j;JfPrpaUf;Fk; cs;s 
cwTfisf; Fwpj;j $w;Wfspy; rhpahd $w;W vJ? 
I. my;Gfh;f; fpU~;z Njtuhahpd; rkfhyj;jth; Mthh;. 
II. my;Gfh;f; fpU~;z Njtuhahpd; muritf;F Yapy; vd;w ghjphpahiu 
J}Jtuhf  
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  mDg;gpdh;. 
III. Nghh;j;JfPrpa tzpfh;fs; fpU~;z Njtuhah; fhyj;jpy; tp[aefuj;jpy; jq;fp  
   ,Ue;jdh;. 
IV. Nghh;j;JfPrpah;fs; tp[aefu muRf;F gil cjtp nra;Js;shh;.  
a. I kl;Lk;  b. II kl;Lk;  c. III kl;Lk;  d. I, II, III, IV 
e. tpil njhpatpy;iy 

 
75. Which of the following statements are true about Alan Octvian Hume? 

(i) The father of Indian National Congress 
(ii) An eminent Economist 
(iii) President of the Lahore Session in 1893 
a. (i) only   b. (i) and (iii) only  c. (i) and (ii) only  
d. (ii) and (iii) only e. Answer not known 
myd; Mf;Nltpad; `pA+k; gw;wpa $w;wfspy; vJ cz;ik? 
(i) ,e;jpa Njrpa fhq;fpu]pd; je;ij 
(ii) xU rpwe;j nghUshjhu epGzh; 
(iii) 1893 ,y; yh$h; mkh;tpd; jiyth; 
a. (i) kl;Lk;   b. (i) kw;Wk; (iii) kl;Lk;  c. (i) kw;Wk; (ii) kl;Lk;  
d. (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 

 
 
76. The ratio of 10th and 14th term of an A.P. is 8 : 11 then the ratio of 6th term to 16th 

term is 
a. 3 : 8 b. 5 : 7 c. 3 : 7 d. 2 : 5 e. Answer not known 
xU A.P. y; 10th kw;Wk; 14th cWg;Gfspd; tpfpjk; 8 : 11 vdpy; mf;$l;Lnjhlhpy; 
6tJ kw;Wk; 16tJ cWg;Gfspd; tpfpjk;  
a. 3 : 8 b. 5 : 7 c. 3 : 7 d. 2 : 5 e. tpil njhpatpy;iy 

 

77. Find the value of 1

2
% of 200. 

a. 1  b. 20  c. 50  d. 100  e. Answer not known 

200 ,y; 1

2
%If; fhz;f. 

a. 1  b. 20  c. 50  d. 100  e. tpil njhpatpy;iy 
 
78. Match the following: 

Name of the Initiative    Year of Initiation 
A. Human Development Index (HDI)   1. 2000 
B. Gender Related Development Index (GDI)  2. 1997 
C. Human Poverty Index (HPI)    3. 1995 
D. Millennium Development Goals (MDG)  4. 1990 

A B C D  
a. 1 2 3 4  
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b.  4 3 2 1 
c. 3 2 1 4   
d. 2 1 4 3 
e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf: 

FwpaPl;bd; ngah;    cUthf;fg;gl;l Mz;L 
A. kdpj Nkk;ghl;L FwpaPL (HDI)    1. 2000 
B. ghypd-njhlh;ghd Nkk;ghl;L FwpaPL (GDI)  2. 1997 
C. kdpj tWik FwpaPL (HPI)     3. 1995 
D. Mapukhz;L Nkk;ghl;L ,yf;F (MDG)  4. 1990 

A B C D  
a. 1 2 3 4  
b.  4 3 2 1 
c. 3 2 1 4   
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
79. The sources of Non-Tax Revenue are 

I. Earnings from public enterprises 
II. Escheats 
III. Sales tax 
IV. Cess 
From the above which are correct answers? 
a. II and III  b. I and IV  c. I and II  d. III and IV 
e. Answer not known 
thp rhuh tUthapd; Mjhuq;fshtd: 
I. nghJj; Jiw epWtdq;fspd; tUtha;fs; 
II. kuz jPh;it 
III. tpw;gid thp 
IV. nr]; 
NkNy fz;ltw;Ws; vit rhpahd tpilfs;? 
a. II kw;Wk; III b. I kw;Wk; IV c. I kw;Wk; II  d. III kw;Wk; IV 
e. tpil njhpatpy;iy 

 
80. Who gave ‘Atchayapathra’ (Perenial vessel) to Aaputhiran? 

a. Sindha Devi  b. Manimekala Deivam (God) c. Kannaki   
d. Madhavi   e. Answer not known 
MGj;jpuDf;F mlra ghj;jpuk; mspj;jth;? 
a. rpe;jh Njtp  b. kzpNkfyh nja;tk;  c. fz;zfp    
d. khjtp   e. tpil njhpatpy;iy 

 
81. Find below the text not written (Sang) by Namazhvaar? 

a. Thiruvirutham    b. Naanmugan Thiruvanthathi 

c. Periya Thiruvanthathi   d. Thiruvaimozhi 
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e. Answer not known 
fPo;f;fhz;gdtw;wpy; ek;kho;thh; ghlhj E}y; 
a. jpUtpUj;jk; b. ehd;Kfd; jpUte;jhjp c. nghpa jpUte;jhjp 
d. jpUtha;nkhop  e. tpil njhpatpy;iy 

 
82. A Principal becomes Rs. 10,050 at the rate of 10% in 5 years. Find the principal. 

a. Rs. 6,500  b. Rs. 6,700  c. Rs. 6000  d. Rs. 3,350 
e. Answer not known 
xU Fwpg;gpl;l njhifahdJ 10% tl;b tPjk; 5 Mz;LfSf;F &.10,050 
fpilf;fpwJ vdpy; mry; vt;tsT? 
a. &. 6,500  b. &. 6,700  c. &. 6000  d. &. 3,350 
e. tpil njhpatpy;iy 

 

83. Calculate the simple interest on Rs. 7,200 at 
3

12
4

%per annum for 9 months. 

a. Rs. 962.4  b. Rs. 800.3  c. Rs. 784.2  d. Rs. 688.5 
e. Answer not known 

&. 7,200 -f;F Mz;L 
3

12
4

% tl;b vd;w tPjj;jpy; 9 khjq;fSf;fhd jdp tl;b 

fhz;f. 
a. &. 62.4  b. &. 800.3  c. &. 784.2  d. &. 688.5 
e. tpil njhpatpy;iy 

 
 
84. Dr. Shantha, Chairperson of Adyar Cancer Institute was honoured with Padma 

Shree Award in the year 
a. 1984  b. 1986      c. 1998  d. 2002 e. Answer not known 
milahh; Gw;WNeha; epWtdj;jpd; jiyth; lhf;lh; rhe;jh mth;fSf;F ve;j 
Mz;L gj;k= tpUJ toq;fg;gl;lJ? 
a. 1984  b. 1986      c. 1998  d. 2002 e. tpil njhpatpy;iy 

 
85. The national aquatic animal of India is 

a. River dolphin  b. Sea horse c. Dudong  d. Sea lion 
e. Answer not known 
,e;jpahtpd; Njrpa ePh;tho; caphpdk; 
a. Mw;W lhy;gpd;  b. fly; Fjpiu c. fly; gR  d. fly; rpq;fk; 
e. tpil njhpatpy;iy 

 
86. Arrange the following events in chronological order: 

(i) Swadeshi Movement    (ii) Home Rule Movement 
(iii) Non-Cooperation Movement  (iv) Civil Disobedience Movement 
a. (i), (ii), (iii), (iv)  b. (ii), (iii), (iv), (i) 
c. (iii), (iv), (i), (ii)   d. (iii), (ii), (i), (iv) 
e. Answer not known 
gpd;tUk; epfo;Tfis fhyKiwg;gb gl;baypLf. 
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(i) RNjrp ,af;fk;    (ii) jd;dhl;rp ,af;fk; 
(iii) xj;Jioahik ,af;fk;  (iv) rl;l kWg;G ,af;fk; 
a. (i), (ii), (iii), (iv)  b. (ii), (iii), (iv), (i) 
c. (iii), (iv), (i), (ii)   d. (iii), (ii), (i), (iv) 
e. tpil njhpatpy;iy 

 
87. Why the Pudhu Vaazhvu Project is launched? 

a. To eradicate poverty   b. To reduce employment opportunity 
c. To decrease economic growth d. To help the rich people 
e. Answer not known 
GJ tho;Tj; jpl;lk; Vd; njhlq;fg;gl;lJ? 
a. tWikia xopj;jy;    b. Ntiy tha;g;ig Fiwj;jy; 
c. nghUshjhu tsh;r;rpia Fiwj;jy; d. gzf;fhuh;fSf;F cjTjy; 
e. tpil njhpatpy;iy 

 
88. Tamil Nadu Water Resources conservation and augmentation mission is 

launched due to 
a. Construction of New Dams 
b. Utilising the scarce water resources for the maximum benefit of the people 
c. To control the industries to use more water 
d. To monitor the water supply 
e. Answer not known 
“jkpo;ehL ePh;ts Mjhug; ghJfhg;G kw;Wk; ePh; Nkyhz;ik ,af;fk;” 
njhlq;fg;gl;ljd; Nehf;fk; 
a. Gjpa mizfs; fl;LtJ 
b. mUfptUk; ePh; tsq;fis> kf;fs; ngUkstpy; ed;ikailAk; tifapy;  
  gad;gLj;jpl tif nra;tJ. 
c. njhopw;rhiyfs; mjpfsT ePh; gad;gLj;Jtijf; fl;Lg;gLj;Jjy; 
d. jz;zPh; tpepNahfj;ij fz;fhzpj;jy; 
e. tpil njhpatpy;iy 

 
89. Consider the following statements : 

I. CO2 is green house gas, it increases global warming 
II. CO2

  absorbs infrared radiation 
Which of the statements given above is/are correct? 
a. I only  b. II only  c. I and II  d. Neither I nor II 
e. Answer not known 
gpd;tUk; $w;Wfis fUj;jpy; nfhs;f. 
I. gRik ,y;y thA> cyf ntg;gkhjiy mjpfhpf;fpwJ. 
II. mfr;rptg;G fjph; tPr;Rfis <h;j;J nfhs;fpwJ. 
Nkw;$wpatw;Ws; rhpahdJ vJ/vit? 
a. I kl;Lk;  b. II kl;Lk;  c. I kw;Wk; II  d. I my;yJ II 
,uz;Lky;y 
e. tpil njhpatpy;iy 
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90. The Indian Parliament adopted the Scientific policy resolution in the year 

a. 1960  b. 1959  c. 1958  d. 1957 
e. Answer not known 
,e;jpa ghuhSkd;wj;jpy; mwptpay; nfhs;if jPh;khdk; ve;j Mz;L Vw;Wf; 
nfhs;sg;gl;lJ? 
a. 1960  b. 1959  c. 1958  d. 1957 
e. tpil njhpatpy;iy 

 
91. Under Art 78 of the Indian constitution it is the duty of the Prime Minister to 

a. Communicate to the President all decisions of the council of Ministers 

b. Communicate to the parliament all decisions of the council of Ministers 
c. Communicate to the Supreme Court all decisions of the council of Ministers 
d. Communicate to the comptroller and Auditor general of India all decisions 
of the council of Ministers 
e. Answer not known 
,e;jpa murpayikg;Gr; rl;lj;jpd; 78-tJ ruj;jpd; fPo; ghujg; gpujkhpd; 
flikahfr; nrhy;yg;gLtJ 
a. mikr;ruitapd; midj;J KbTfisAk; FbauRj; jiytUf;Fj; njhptpj;jy; 
b. mikr;ruitapd; midj;J KbTfisAk; ghuhSkd;wj;jpw;Fj; njhptpj;jy; 
c. mikr;ruitapd; midj;J KbTfisAk; cr;r ePjpkd;wj;jpw;Fj; njhptpj;jy; 
d. mikr;ruitapd; midj;J KbTfisAk; ,e;jpaf; fzf;fhah; kw;Wk;  
  jiyikj; jzpf;ifahplk; njhptpj;jy; 
e. tpil njhpatpy;iy  

 
92. Fundamental duties were added to the Indian constitution by which 

amendment? 
a. 12th b. 22nd c. 32nd d. 42nd e. Answer not known 
ve;j jpUj;jj;jpd; %yk; mbg;gil chpikfs; ,e;jpa murpayikg;G rl;lj;jpy; 
Nrh;f;fg;gl;bUf;fpwJ? 
a. 12 k; b. 22 k; c. 32 k; d. 42 k; e. tpil njhpatpy;iy 

 
93. The third session of the Indian National Congress was presided by 

a. A.O. Hume   b. Annie Besant  c. Fakruddin Dyabji 

d. Dadabhai Naoroji e. Answer not known 
%d;whtJ ,e;jpa Njrpa fhq;fpu]; khehL _______ jiyikapy; eilngw;wJ. 
a. A.O. P̀A+k;   b. md;dp ngrd;l;  c. gf;&jpd; jpahg;[p 
d. jhjhgha; nesNuh[p  e. tpil njhpatpy;iy 

 
94. Thirunangaigal (Transgenders) – Who has written about them in 

Puthukavithai (free verse)? 
a. M. Rajendran  b. N. Kamarajan   c. M. Mehta 
d. Abdul Rahman  e. Answer not known 
jpUeq;iffisg; gw;wp GJf;ftpijapy; ghbath; ahh;? Fwpg;gpLf. 
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a. kP. uhN[e;jpud;  b. eh. fhkuh[d;   c. K. Nkj;jh 
d. mg;Jy; u`khd;  e. tpil njhpatpy;iy 

  
95. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 

7 cm. Find the volume of the frustum. 
a. 48510 cm3  b. 48501 cm3 c. 48105 cm3 d. 48511 cm3 

e. Answer not known 
45 nr.kP cauKs;s Xh; ,ilf; fz;lj;jpd; ,U Gw Muq;fs; KiwNa 28 nr.kP. 
kw;Wk; 7 nr.kP. vdpy;> ,ilf;fz;lj;jpd; fd msitf; fhz;f. 
a. 48510 nr.kP3  b. 48501 nr.kP3 c. 48105 nr.kP3 d. 48511 nr.kP3 

e. tpil njhpatpy;iy 
 
96. A cubical tank can hold 64,000 litres of water. Find the length of its side in 

metres. 
a. 6 metres  b. 5 metres   c. 4 metres  d. 7 metres 
e. Answer not known 
xU fdrJu tbt ePh;j; njhl;bahdJ 64,000 ypl;lh; ePh; nfhs;Sk; vdpy; me;j 
njhl;bapd; gf;fj;jpd; ePsj;ij kPl;lhpy; fhz;f. 
a. 6 kP  b. 5 kP   c. 4 kP  d. 7 kP  e. tpil njhpatpy;iy 

 
97. Under which Article, the parliament has power to give financial assistance to 

the states? 
a. Article 235 b. Article 245  c. Article 275  d. Article 265 
e. Answer not known 
ve;j tpjpapd; fPo;> ghuhSkd;wk; khepyq;fSf;F epjpAjtp mspf;Fk; mjpfhuk; 
ngw;Ws;sJ? 
a. tpjp 235  b. tpjp 245  c. tpjp 275  d. tpjp 265 
e. tpil njhpatpy;iy 

 
98. Who among the following is the first citizen of a city in India? 

a. Mayor  b. Chairman c. Sheriff  d. MLA 
e. Answer not known 
,e;jpa mstpy; fPo;fz;lth;fspy; khefuhl;rpapd; Kjy; Fbkfd; vd;gth; ahh;? 
a. khefuhl;rp kd;w jiyth;  b. jiyth; 
c. Ch;j;jiyth;    d. rl;lkd;w cWg;gpdh; 
e. tpil njhpatpy;iy 

 
99. Settled type of cultivation is also called as 

a. Sedentary farming   b. Terrace farming 
c. Intensive farming    d. Commercial farming 
e. Answer not known 
epiyahd tif Ntshz;ik ________ vd;W miof;fg;gLfpwJ. 
a. ,iltplhj tptrhak;   b. nkhl;ilkhb tptrhak; 
c. nrwpe;j Kiw tptrhak;  d. tzpf tptrhak; 
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e. tpil njhpatpy;iy 
 
100. What is the percentage of pure iron content in Hematite? 

a. 60% to 70%  b. 20% to 30%  c. 50% to 60% 
d. 40% to 50%  e. Answer not known 
N`kill; tif ,Uk;Gj;jhJfspy; cs;s Rj;jkhd ,Uk;gpd; rjtPjk; vd;d?  
a. 60% Kjy; 70%  b. 20% Kjy; 30%  c. 50% Kjy; 60% 
d. 40% Kjy; 50%  e. tpil njhpatpy;iy 
 

 


